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	Q01: The reason that the bridge gets icy before the pavement is because the cold air doesn't just surround the top of the bridge it also surrounds the bottom so the bridge loses all possible sources of heat and with that the ice will come rapidly as soon as the temp is below a freezing point.
	Q02: The reason that the cloud's affected the temperature even at night is because when it comes to the infrared radiation that is still on earth it is unable to go back to space and instead is trapped beneath the clouds. Instead the radiation is actually emitted down making the minimum temperatures not as low as they would be if the prediction had been made with clear skies as the forecast.
	4a: If the thermometer was not placed in the shade the temperature would increase because that would mean the sun is directly on it thus it is reading the temperature of the actual ray's instead of reading the temperature of the area around it that is effected by the rays from the sun. 
	4b: The temperature's would increase because black absorbs more ray's thus making it hotter vs if it was white so you're reading's would be incorrect because it isn't reading the actual temperature of the area around it.
	4c: The way that the reading's would change is because due to wind the temperature outside is actually a lot of the time cooler then what it would be if there was no wind. So If the ventilation is taken out of the picture then that means that the temperature would be higher then it would be compared to the actual outside area surrounding.
	4d: If the thermometer was placed higher then GL you run the risk that the reading's you receive may be hotter then what the surrounding area actually is. This is because when the box is placed closer to the ground it also picks up the heat that the ground absorbs so that would make the temperature reading's higher then they should be. 
	5: When it comes to the temperature increase with altitude in the stratosphere it is because when you get closer and closer up. You are actually starting to get closer to the sun's ray's and with that the temperature increases just like when you are closer to earth it is hotter because not only are you being hit with the ray's but you also have the heat of the earth underneath. 
	Q3: When it comes to the inconsistency within the chart I believe that we find it between the blue and red lines. Now my reasoning for this is because it is stated in Kirchhoff's law that "if a body absorbs half as much as the black body, it also emits half as much as a black body." Now what this is saying is that what the body has absorbed it must emit back which in this case it is. So the question is why isn't the temperature going down as well since with that in mind temperature is supposed to lower when the radiation is emitted out of the body since that is the reason it is heated in the first place. So the changes that need to be made is that they need to be more even in decline instead of one plummeting and the other being a steady slope. 


